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Section: 1
Subject: General Awareness
1. A sand deposit extending into the mouth of a bay is a ?
(a) Headland (b) Sea Stack
(c) Split (d) Berm
2. Which of the following metals forms an amalgam with other metals?
(a) Tin (b) Mercury
(c) Lead (d) Zinc
3. What is the name of the purest form of rainwater in Rajasthan?
(a) Gul (b) Khadin
(c) Johad (d) Palar Pani

4.  Which Indian sportsperson will represent IOC's Athletes' Commission (AC) in the Badminton
World Federation (BWF)

(a) Saina Nehwal (b) P V Sindhu
(c) Pullela Gopichand (d) Prakash Padukone
5.  Who was the winner of the Women's Singles in Australian Open 20177
(a) Angelique Kerber (b) Garbine Muguruza
(c) Maria Sharapova (d) Serena Williams
6. Which of the following uses radio waves to determine the range, altitude, direction, or speed of
objects?
(a) Lidar (b) LORAN
(c) Radar (d) Sonar
7. The most Important ore of lead is
(a) Galena (b) Magnetite
(c) Pyrolusite (d) Siderite

8. The National Civil Aviation Policy 2016 was unveiled on June 15,2016. To make flying more
affordable in Tier Il and Tier lll cities, the policy has proposed to cap airfares at per flying hour
at unserved airports.

(a) 1,500/- (b) 2,000/-

All The Best!!!




(c) 2,500/- (d) 3,000/-
(e) 3,500/-

9. The Reserve Bank of India has imposed caps on withdrawals made by customers of
Punjab and Maharashtra Cooperative Banks for 6 months under which section of India’s
Banking Regulation Act, 1949?

(a) Section 34A (b) Section 35A
(c) Section 35 (d) Section 35AA
(e) Section 34 B
10. Match Column I with Column Il and select the correct answer using the code given below the
columns
Column Column
A Bhillasvamin (i) |Tamil Nadu
B |Somnath (ii) |/Andhra Pradesh
C Madurai (iii) Madhya Pradesh
D Tirupati (iv) \Gujarat
(@) Aiii), B(iv), C(i), D(ii) (b) A(i), Bii), C(iii), D(iv)
(c) A(iv), Biii), G(ii), D(i) (d) None of these
Section: 2
Subject: Computer Awareness

11. A page fault occurs when
(a) the Deadlock happens (b) the Segmentation starts
(c) the page is found in the memory (d) the page is not found in the

memory

12.  Which operation with floating point numbers are more complicated then arithmetic operation

with fixed point number :
(a) Logical operation (b) Arithmetic operation
(c) Both (d) None of these
13. Which one of the following statement is correct for the term URL?
(a) Itis a type of programming object (b) It is a computer software program
(c) Itis the address of page on World Wide (d) It is an acronym for unlimited resource for
Web learning
14. What is the GUI Full form?
(a) Graphical Union Interface (b) Global User Interface
(c) Graphical User Interface (d) Graphical User Identity
15. Types of voice recognition system include




(a) speaker dependent system (b) speaker independent system

(c) discrete speech recognition (d) all of the above

16. Which key is used in combination with another key to perform a specific task?

(a) Function (b) Space bar
(c) Arrow (d) Control
17.  An anti static strap usesasmall __ to make sure you do not become the least path of
resistance to the ground?
(a) capacitor (b) diode
(c) transistor (d) resistor
18. RS-232is a standard that applies to?
(a) Parallel port (b) Serial port
(c) Game port (d) All of the above
19. If program can cope data errors, program is called
(a) robust (b) reliable
(c) unreliable (d) stable functioning
20. When does the output of a NOR gate = 0?
(a) Whenever a 0 is present at an input (b) Onlywhen all inputs = 0
(c) Whenever a 1 is present at an input (d) Only when all inputs = 1
Section: 3

Subject: Reasoning Ability
21. In a certain code, MENTION is written as LNEITNO. How is PATTERN written in that code ?

(a) ATAETNR (b) OTAETNR
(c) OTAESNR (d) STAETNR
22. In a coded language COMPUTER is written as RETUPMOC. How is MACHINE written in the
same code
(@) DHFTCHS (b) HGTIRDM
(c) ENIHCAM (d) HGRMSCH

23.
If A + B means A is the mother of B
A - B means A is the brother B
A % B means A is the father of B and
A x B means A is the sister of B,
which of the following shows that P is the maternal uncle of Q7

(@Q-N+MxP (b)P+SxN-Q
(c)P-M+NxQ (d)Q-S%P




24. If Rahul says, "Ravi's mother is the only daughter of my mother how is Rahul related to Ravi ?
(a) Grandfather (b) Father

(c) Maternal uncle (d) Cannot be determined

25. Pointing to a lady, a man said, "The son of her only brother is the brother of my wife." How is
the lady related to the man ?

(a) Mother's sister (b) Grandmother
(c) Mother-in-law (d) Maternal aunt

26. In aclass of 180, where girls are twice the number of boys, Rupesh[a boy] ranked 34th from
the top. If there are 18 girls ahead of Rupesh, how many boys are after him in rank?

(@) 45 (b) 44
(c) 60 (d) can't be determined

27. Rajan is sixth from the left end and vinay is tenth from the right end in a row of boys. If there
are eight boys between Rajan and Vinay, how many boys are there in the row ?

(a) 24 (b) 26
(c) 23 (d) 25
28. Which letter replaces the questions mark?
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29. P,Q,R,S, TandU are six cities which are in a row in the same order. A bus, b1 travels from
P to U and another bus b2 travel from U to P. The bus b1 reaches S at 10:40 and bus b2
reaches Q at 10:35 if the travel time between any two adjacent cities is 40 minutes and the
stoppage time at each city is 15 minutes, then at what time do they start at their respective
destinations?

(a) 8:00, 7:00 (b) 8:00, 7:10
(c) 8:10, 7:10 (d) 8:15, 7:25
(€) 8:10, 7:00

30. 2,A,9,B,6,C,13,D,?
(a) 9 (b) 10

(c)12 (d) 19




Section: 4
Subject: General English

31.

32.

33.

34.

35.

Read the sentence to find out whether there is any grammatical mistake or error in it .The error
if any, will be one part of the sentence. Mark the number of the part with error as your
answers. If there is no error, mark (5)

(a) The Delhi Government will set up (b) in East Delhi to test, verify and calibrate /
seven laboratories /

(c) the work and reference standards of (d) weights and measuring equipments used
different types of balances, in shops or establishments.

(e) No error

Read each sentence to find out whether there is any grammatical mistake/error in it. The error,
if any, will be in one part of the sentence. Mark that part with error as your answer. If there is
no error, mark (e).

(a) In the meeting, India would also (b) emphasized taking the negotiations
(c) of services forward along with goods (d) to help increase its share in India’s GDP
(e) No error
The Competition Commission witha __ to protect the consumer from industry _ has
been fully functional for eight years now andhas __ a good reputation for itself.
(a) goal, monsters, performed (b) command, monopoly, priced
(c) mandate, cartelization, earned (d) score, growth, reached

Three statements with a blank in each, followed by three words, are given below. Which of the
following sequence of words given at (A), (B), (C) and (D) would most appropriately fit the
blanks? If the correct sequence of words is not given in any of the alternatives, mark ‘None of
these’ as the answer.

i. This material creates the of various wood-grain textures.

ii. The landlord made an to not getting things repaired early.

iii. They already chose the package which has the dance floor in too.

l. Allusion

[l. lllusion

1. Inclusion
(@) Allusion, Inclusion, lllusion (b) lllusion, Allusion, Inclusion
(c) Inclusion, Allusion, lllusion (d) Inclusion, lllusion, Allusion

(e) None of these

a)/ Outside the hotel, mingling with the b)/ Anyway with such dearth of facilities, and much less
lack of inclination, c)/ in the eaves of an old monastery d)/ but visitors outside a Buddhist
temple, cooing e)/ the raven is the national bird of Bhutan

(a) DAEB (b) BEDA
(c) CEDA (d) None of these
(e) No correction required




36.

37.

38.

39.

Five statements given below, labeled as a,b,c,d and e. Among these, four statements are in
logical error and form coherent paragraph/passage. From the given options choose the option
that doesn’t fit into the theme of the passage.

(a) The regulator should also be watchful (b) The liberal left is actually intolerant and

that rules to curb volatility don't stifle slamming the leaders, the armed forces and
the overall derivatives market patriots or nationalists

(c) Also, India should build on Aadhaarto  (d) The OECD’s global forum on tax
provide all legal entities, and not just transparency is reportedly discussing a new
individuals, a unique identifier for standard on beneficial ownership

transparency on beneficial owners
(e) The initiative is welcome

In each of the following questions, five statements are given. Four of them are related in some
way. Identify the ‘odd one’ and mark its number as your answer.

(a) Gandhiji’s autobiography is ‘My (b) Jawaharlal Nehru'’s patriotism is seen in
experiments with Truth’ ‘Discovery of India’.
(c) Lala Lajpat Rai’s unhappiness over (d) Hitler's ‘Mein-Kamph’ was known as the

conditions in pre-independent India is bible of the Nazis.
seen in his book ‘Unhappy India’.

(e) Shakespeare is the most famous
playwright of English literature

Each of the following questions has a paragraph from which one sentence or part of sentence
has been deleted. From the given options, choose the one that completes the paragraph in the
most appropriate/coherent way. If none of the given alternatives is appropriate to fill the blank,
choose option (e) i.e. “none of these” as your answer choice.

Thanks to unabated industrialisation and the rampant use of fossil fuels, humanity has driven
the concentration of carbon dioxide in the atmosphere to over 400 parts per million. In
addition, our use of synthetic fertilizers has artificially .............. This coupled with deforestation
has had such a serious impact that the natural biodiversity of the planet has shrunk and
species are getting extinct 10 times faster than scientists consider acceptable.

(a) tabulate their year-long data and sit (b) result in an additional 10cm of global sea
down to prepare reports level rise, affecting an additional 10 million
people in 2100
(c) doubled the volumes of nitrogen and (d) leading to unprecedented flooding, as we

phosphorus in the soil at the surface of have seen this year in Kerala and Meghalaya
the Earth, resulting in toxic run-offs

(e) None of these

Each of the following questions has a paragraph from which one sentence or part of sentence
has been deleted. From the given options, choose the one that completes the paragraph in the
most appropriate/coherent way. If none of the given alternatives is appropriate to fill the blank,
choose option (e) i.e. “none of these” as your answer choice.

Events over the past few years have prompted many to revisit the idea of individual freedom.
Indeed, not just in India, but elsewhere too, the idea of individual freedom is under intense
scrutiny. .......... By corollary, are fascist policies and rhetoric on the rise? Persons with a liberal
bent of mind, who prize individual freedoms like free speech, gender and racial equality, are




especially troubled, for our country appears to be at a juncture where fundamental notions of
modern India are under existential threat.

(a) In 21 Lessons for the 21st Century, (b) Professor Stanley has the U.S. in mind, but
Yuval Noah Harari captures the surely there is some resonance closer home.
essence of these values beautifully

(c) Are governments across the world (d) Sloganeering and flag raising have become

increasingly posing a threat to liberty?  tests for nationalism.
(e) None of these
40. The tunnel was so and congested, that we became

Section: 5
Subject: Quantitative Aptitude

41. Mohan bought 20 dining tables for Rs. 12000 and sold them at a profit equal to the selling
price of 4 dining tables. The selling price of each dining table is :

(a) Rs. 700 (b) Rs. 750
(c) Rs. 725 (d) Rs. 775

42. David sells his Laptop to Goliath at a loss of 20% who subsequently sells it to Hercules at a
Profit of 25%. Hercules, after finding some defect in the laptop, returns it to Goliath but could
recover only Rs. 4.50 for every Rs. 5 he had paid. Find the amount at Hercules' loss if David
had paid Rs. 1.75 lakh for the laptop.

(a) 3500 (b) 2500
(c) 17,500 (d) 20,000
43. Two positive numbers differ by 5 and square of their sum is 169 are
(@24 (b) 5, 6
(c)4,9 (d)3,7

44. A carton contains 8000 led bulbs, some of them are red, some green and others are blue. How
many are green if 3% are red and 5% are blue?

(a) 7360 (b) 7460
(c) 7260 (d) 7560

45. The average marks of Chintu in 4 subjects is 60. In the 5" subject he scored 75 marks. What
marks should be scored in the 6 subject if his average marks in all the 6 subjects is 2 more
than his average marks in first 5 subjects.

(@70 (b) 72
(c) 81 (d) 85
(e) None of these

46. Nitish travelled a distance of 50 km at speed of 10 kmph, next 60 km at speed of 15 kmph and
remaining 40 km at speed of 20 kmph. Find the average speed of Nitish for the entire journey.

(a) 16 kmph (b) 15 kmph
(c) 13.6 kmph (d) 15.5 kmph




(e) None of these
47. What value should come in place of (?) in the following number series? 1172, 1177, 1202,

1327, ?
(a) 1564 (b) 1952
(c) 2348 (d) 2696

(e) None of these

48. A and B enter into a partnership with capitals in the ratio 2 : 3. At the end of 9 months, A
withdraws from the business. If their profits are in the ratio 1 : 2. How long did B invest his

capital?
(a) 12 months (b) 8 months
(c) 10 months (d) 14 months

(e) None of these

49. Kamala and Shamala start a business with the capital of Rs.4500 and Rs.5400 respectively.
After some months Shamala left the business and received one-third of the total profit, then
how many months Kamala alone run the business?

(a) 5 months (b) 6 months
(c) 4 months (d) 7 months
(e) 8 months

50. Sethu is a working and Santhanu is sleeping partner in a car business. Sethu puts in Rs.25000
and Santhanu puts in Rs.30000. Sethu receives 12/1/2% of the profit for managing the
business and the rest is divided in proportion to their capital. What does each get out of a profit

of Rs. 44007
(a) 2300, 2100 (b) 1250, 1600
(c) 1500, 1850 (d) 2000, 2400

(e) None of these

Section: 6
Subject: Static Awareness

51. Who were made the permanent members of the U.N. Security Council?
(a) One representative from each continent  (b) Five major powers of the Allied Forces in

the Second World War
(c) Five members elected by the U.N. (d) Funding members of the U.N.
General Assembly at the initial
Constitution
(e) None of these
52. The instrument that measure wind speed is the
(a) Anemometer (b) Hygrometer
(c) Wind Vane (d) Gyrometer

53. Which is the largest tea producing country in the world?




(a) China (b) India

(c) Japan (d) Myanmar
54. There shall be a President of India, according to Article
(a) 50 (b) 51
(c) 52 (d) 53
55. The Hirakud Project harnesses the water of the river.
(a) Ganga (b) Sutlej
(c) Mahanadi (d) Tapi
56. Who was the originator of "Bhoodan Movement"?
(a) Mahatma Gandhi (b) Motilal Nehru
(c) Acharya Kriplani (d) Acharya Vinoba Bhave
57. The parliament of Japan is Known as
(a) Diet (b) Althing
(c) Federal Assembly (d) Senate
58. The University which became famous in the post - Gupta Era was
(a) Kanchi (b) Taxila
(c) Nalanda (d) Vallabhi
59. What'is the sex ratio in Haryana according to 2011 census?v
(a) 872 : 1000 (b) 865 : 1000
(c) 892 :1000 (d) 888 : 1000

(e) 879 : 1000
60. Where is Cheruthoni Dam located?
(a) Tamil Nadu (b) Kerala

(c) Karnataka (d) Andhra Pradesh
(e) Tamil Nadu

Section :7
Subject: Banking Awareness
61. RBI has asked ARCs to have minimum NOF of __ crore.
(a) 25 (b) 50
()70 (d) none of the above

62. RBI has restricted Indian entities from making investments in non cooperative countries and
territories as per

(a) FATF (b) FADF




63.

64.

65.

66.

67.

68.

69.

70.

(c) FACF (d) None of the above

How many payment banks received in-principle approval by the Reserve bank of India?

(@3 (b) 4
(c)6 (d) 11
Negotiable certificate of deposit with one year maturity pays interest
(a) annually (b) semiannually
(c) monthly (d) every two weeks

Obligations that are issued by US governments and are obligated for short term, are classified
as

(a) bankers treasury (b) treasury bills

(c) treasury funds (d) secured treasury

Type of market in which short term instruments are traded and purchased by economic units,
is classified as

(a) money markets (b) capital markets
(c) debt markets (d) economic markets

Type of funds that have transfer transactions between financial institutions are classified as
(a) federal funds (b) premium funds
(c) discount funds (d) mean funds

State-issued money which is neither convertible by law to any other thing, nor fixed in value in
terms of any objective standard is called —

(a) Fiat Money (b) Commercial Bank Money
(c) Representative Money (d) Liquid Money

You bought a share for $10 and sold it for $12 after one year. You received share dividend $1
during the holding period. What was the rate of holding period return?

(a) 10% (b) 20%
(c) 30% (d) 40%

Which is the tax that is imposed by the Central Government of India but its revenue is divided
between Centre and States?

(a) Custorm Duty (b) Central Excise Duty
(c) Corporation Tax (d) None of these

10]




